

		First, a few questions about the area where you live.



	2.01	In some areas people do things together and try to help each

		other, while in other areas people mostly go their own way.

		In general, would you say you live in an area where ... 		 (()

		�

		PLEASE TICK ONE BOX ONLY	... people help each other,		  (1)			3235

		 	OR                                                          

�			people go their own way?		  (2)



�			Mixture		  (3)



�			Can't choose		  (8)



�





	2.02a	Do you think you live in the sort of area where people

		who thought a house was being broken into would ... 		 (()

		�

		PLEASE TICK ONE BOX ONLY	... do something about it,		  (1)			3236

		 	OR                                                          

�			just turn a blind eye?		  (2)



�			Mixture		  (3)



�			No burglaries in this area		   (4)



�			Can't choose		  (8)









	b.	And do you think burglaries in this area are ... 

				 (()

		PLEASE TICK ONE BOX ONLY		�

			... mostly done by people from other areas,		  (1)			3237

		 	OR                                                                         

�			mostly done by people from around here?		  (2)



�			Mixture		  (3)



�			No burglaries in this area		   (4)



�			Can't choose		  (8)

�





�	2.03	Suppose a newly-married young couple, both with steady

		jobs, asked your advice about whether to buy or rent a home.

		If they had the choice, what would you advise them to do?

				 (()

		PLEASE TICK ONE BOX ONLY �

			To buy a home as soon as possible		  (1)			3238

	 

�			To wait a bit, then try to buy a home		  (2)



�			Not to plan to buy a home at all		  (3)



�			Can’t choose		   (8)



�



	2.04	Still thinking of what you might say to this young couple,

		please tick one box for each statement below to show

		how much you agree or disagree with it.

					Neither

		PLEASE TICK ONE BOX	Agree	Just	agree nor	Just	Disagree	

		ON EACH LINE	strongly	agree	disagree	disagree	strongly	



	a.	Owning your home can be a risky  

�		investment							3239



	b.	Over time, buying a home works out

�		less expensive than paying rent							3240

	

	c.	Owning your home makes it easier

�		to move when you want to							3241



	d.	Owning a home ties up money you 

		may need urgently for other things							3242

�

	e.	Owning a home gives you the freedom  

�		to do what you want to it							3243



	f.	Owning a home is a big financial 

�		burden to repair and maintain							3244



	g.	Your own home will be something

�		to leave your family							3245



	h.	Owning a home is just too much

�		of a responsibility						3246



	i.	Owning a home is too much of a risk

�		for couples without secure jobs							3247



	j.	Couples who buy their own homes would

�		be wise to wait before starting a family							3248

�			(1)	(2)	(3)	(4)	(5)





�	2.05	From what you know or have heard, please tick a box for each of the�PRIVATE ��

		items below to show whether you think the National Health Service 

		in your area is, on the whole, satisfactory or in need of improvement.



			In need of	In need

		PLEASE TICK ONE BOX	a lot of	of some		Very

		ON EACH LINE	improvement	improvement	Satisfactory	good



�	a.	GPs' appointment systems						3249



�	b.	Amount of time GP gives to each patient						3250



�	c.	Being able to choose which GP to see						3251



�	d.	Quality of medical treatment by GPs						3252



	e.	Hospital waiting lists for non-emergency 

�		operations						3253

�

	f.	Waiting time before getting appointments 

�		with hospital consultants						3254



�	g.	General condition of hospital buildings						3255



�	h.	Staffing level of nurses in hospitals						3256



�	i.	Staffing level of doctors in hospitals						3257

�



�	j.	Quality of medical treatment in hospitals						3258



�	k.	Quality of nursing care in hospitals						3259



	l.	Waiting areas in accident and emergency 

�		departments in hospitals						3260



�	m.	Waiting areas for out-patients in hospitals						3261

�



�	n.	Waiting areas at GPs' surgeries						3262



�	o.	Time spent waiting in out-patient departments						3263



	p.	Time spent waiting in accident and emergency

�		departments before being seen by a doctor						3264



	q.	Time spent waiting for an ambulance after

�		a 999 call						3265

			(1)	(2)	(3)	(4)



�



�	2.06	In the last two years, have you or a close family member ...

		PLEASE TICK ONE BOX ON EACH LINE

				Yes	No



	a.	... visited an NHS GP?						3266



	b.	... been an out-patient in an NHS hospital?						3267



	c.	... been an in-patient in an NHS hospital?						3268



	d.	... visited a patient in an NHS hospital?						3269



	e.	... had any medical treatment as a private patient?						3270



��	f.	... had any dental treatment as a private patient?						3271

				  (1)		     (2)

�





	2.07a	Suppose two men with a heart condition go on a hospital waiting 

		list at the same time.  Both would benefit from an operation.  

		One man does not smoke and the other smokes heavily.  

		Who do you think would get the operation first.... 		(()

		

�		PLEASE TICK ONE BOX ONLY	... the non-smoker,		  (1)			3272



			 the heavy smoker, 		  (2)



			    or, would their smoking habits make no difference? 		  (3)



			    Can't choose		  (8)

       





	b.	And in your view, who do you think should get the operation first ...		(()

		

�		PLEASE TICK ONE BOX ONLY	... the non-smoker,		  (1)			3273



			 the heavy smoker, 		  (2)



			    or, should their smoking habits make no difference? 		  (3)



			    Can't choose		  (8)

       





	c. 	If decisions like this had to be made, who would you trust most  

		to decide whether non-smokers or smokers should get the 

		operation first?		(()

		

		PLEASE TICK ONE BOX ONLY	The government		  (1)			3274



			Managers working for local health authorities		  (2)



			Managers in hospitals		  (3)



			Hospital doctors		  (4)



�����			Can't choose		  (8)

�

�	2.08a	Now suppose another two men with a heart condition go on

		a hospital waiting list at the same time.  Both would benefit

		from an operation.  One man is aged 40 and other aged 60.  

		Who do you think would get the operation first.... 		(()

		

�		PLEASE TICK ONE BOX ONLY	... the younger man,		  (1)			3275



			 the older man, 		  (2)



			    or, would their ages make no difference? 		  (3)



			    Can't choose		  (8)







   	b.	And in your view, who do you think should get the operation first ... 		(()

		

�		PLEASE TICK ONE BOX ONLY	... the younger man,		  (1)			3276



			 the older man, 		  (2)



			    or, should their ages make no difference? 		  (3)



			    Can't choose		  (8)    

�





	2.09a	Again suppose there are two men with a heart condition.  One man 

		is of average weight and eats healthily, whilst the other is very 

		overweight and eats unhealthily.   Again, both would benefit from 

		an operation.   Who do you think would get the operation first.... 



		PLEASE TICK ONE BOX ONLY		 (()

		

�			... the man whose weight is average and eats healthily,		  (1)			3277



			 the man who is very overweight and eats unhealthily, 		  (2)



			    or, would their weights make no difference? 		  (3)



			    Can't choose		  (8)

       





	b.	And in your view, who do you think should get the operation first... 



		PLEASE TICK ONE BOX ONLY		 (()

		

�			... the man whose weight is average and eats healthily,		  (1)			3278



			 the man who is very overweight and eats unhealthily, 		  (2)



			    or, should their weights make no difference? 		  (3)



			    Can't choose		  (8)

�       



								SPARE

								3279-  

								3280   







	2.10	How likely or unlikely do you think it is within the next 25 years 

		that genetic information will be used to judge a person’s 

		suitability for getting ...

		PLEASE TICK ONE BOX				Not 

		ON EACH LINE	Very	Quite	Not very	at all	Can't

			likely	likely	likely	likely	choose



	a.	�... health or life insurance?											3320	



�	b.	... a job they’ve applied for?											3321



	c.	�... credit at the bank?						3322

			(1)	(2)	(3)	(4)	(8)

�



								SPARE

								3323-  

								3345   

	2.11	From what you know or have heard, please tick one box on each

		line to show how well you think state secondary schools nowadays ...



		PLEASE TICK ONE BOX			Not	Not at

		ONE EACH LINE	Very well	Quite well	very well	all well



�	a.	... prepare young people for work?					3346	



	b.	... teach young people basic skills such

�		as reading, writing and maths? 					3347



	c.	... bring out young people’s natural

�		abilities? 					3348

			(1)	(2)	(3)	(4)

�





	2.12	Please tick one box to show how much you agree or

		disagree with each of these statements.



		PLEASE TICK ONE BOX			Neither

		ON EACH LINE	Agree		agree nor		Disagree	Can't

			strongly	Agree	disagree	Disagree	strongly	choose

	a.	Teaching children the difference

�		between right and wrong should be					3349	

		left to the family and kept out of schools



	b.	Schools should spend more time 

		teaching children right from wrong, even

�		if it means less time is spent on basic					3		3350		subjects like reading and arithmetic

			(1)	(2)	(3)	(4)	(5)	(8)

�



								SPARE

								3351-  

								3380   



								3420-  

								3480   



	



�	2.13	Now please tick one box for each statement to show how much

		you agree or disagree. 

					Neither

		PLEASE TICK ONE BOX	Agree		agree nor		Disagree	Can't

		ON EACH LINE	strongly	Agree	disagree	Disagree	strongly	choose

	a.	As a society, we rely too much on 

�		volunteers 						3520



	b.	Everyone has a duty to do voluntary 

�		work at some time in their lives 						3521



	c.	I would rather donate money to a 

�		charity than give up my  time for it 							3522

			(1)	(2)	(3)	(4)	(5)	(8)

�





	2.14	Please tick one box for each statement to show how much�PRIVATE ��

		you agree or disagree. 

					Neither

		PLEASE TICK ONE BOX	Agree		agree nor		Disagree	Can't

		ON EACH LINE	strongly	Agree	disagree	Disagree	strongly	choose

	a.	There are so many charities that it is 

�		difficult to decide which to give to						3523



	b.	Most charities are wasteful in their 

�		use of funds 						3524



	c.	The smaller the charity, the more 

�		likely it is to put its money to good use						3525



	d.	Nowadays charities can only do their 

		job properly if they are run by paid 

�		professionals, not volunteers						3526



	e.	The more money people give to British 

		charities, the less the government will 

�		spend on people in need						3527



	f.	Too often charities don't bother to say 

�		how the money they get is being spent						3528



	g.	The bigger a charity becomes, the 

		more out of touch it gets with those 

�		it is trying to help						3529



	h.	Doing voluntary work is a good thing 

		for volunteers because it makes them 

�		feel they are contributing to society						3530

			(1)	(2)	(3)	(4)	(5)	(8)

�

								SPARE

								3531-  

								3550   



�	2.15	For each statement please tick one box to show how much you

		agree or disagree with it. 



		PLEASE TICK ONE BOX			Neither

		ON EACH LINE	Agree		agree nor		Disagree

			strongly	Agree	disagree	Disagree	strongly

	a.	The government should encourage people

		to provide something for their own retirement

�		instead of relying only on the state pension						3551



	b.	The government is gradually abandoning 

		its responsibility to provide adequate old

�		age pensions						3552



	c.	State pensions used to provide a better

�		standard of living than they do nowadays						3553

			(1)	(2)	(3)	(4)	(5)

�	





	2.16	Do you consider the amount of income tax that your 

		household has to pay is …

				 (()

		PLEASE TICK ONE BOX ONLY

�			... much too high,		  (1)			3554



�			too high,		  (2)



�			about right,		  (3)



�			too low,		  (4)



�			or, much too low?		  (5)





�			Can’t choose		  (8)



�			Does not apply		  (6)



�



	2.17	Do you consider the amount of council tax that your 

		household has to pay is …�				 (()

		PLEASE TICK ONE BOX ONLY

�			... much too high,		  (1)			3555



�			too high,		  (2)



�			about right,		  (3)



�			too low,		  (4)



�			or, much too low?		  (5)





�			Can’t choose		  (8)



�			Does not apply		  (6)



�



�	2.18	Do you consider the amount of tax that business and 

		industry have to pay is …

				 (()

		PLEASE TICK ONE BOX ONLY

�			... much too high,		  (1)			3556



�			too high,		  (2)



�			about right,		  (3)



�			too low,		  (4)



�			or, much too low?		  (5)



�			Can’t choose		  (8)



�





	2.19	Do you think that people with high incomes should pay a larger 

		share of their income in taxes than those with low incomes, 

		the same share, or a smaller share?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Much larger share		  (1)			3557



�			Larger		  (2)



�			The same share		  (3)



�			Smaller		  (4)



�			Much smaller share		  (5)



�			Can’t choose		  (8)

�





	2.20	How much do you agree or disagree with this statement?

		“It is the responsibility of the government to reduce the 

		differences in income between people with high incomes 

		and those with low incomes.”

				 (()

		PLEASE TICK ONE BOX ONLY

�			Strongly agree		  (1)			3558



�			Agree		  (2)



�			Neither agree nor disagree		  (3)



�			Disagree		  (4)



�			Strongly disagree		  (5)



�			Can’t choose		  (8)

�







�	2.21a	Consider this situation:

		A householder is having a job done by a builder.  He is told 

		that if he pays cash, he will not be charged VAT.  So he pays 

		cash and saves £500.  Do you feel this is wrong or not wrong?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Not wrong		  (1)			3559



�			A bit wrong		  (2)



�			Wrong		  (3)



�			Seriously wrong		  (4)



�			Can’t choose		  (8)





	b.	And how likely do you think it is that you would do this, 

		if you found yourself in this situation?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Very likely		  (1)			3560



�			Fairly likely		  (2)



�			Not very likely		  (3)



�			Not at all likely		  (4)



�			Can’t choose		  (8)

�



	2.22a	Now consider this situation:

		An unemployed person on benefit takes a casual job and is

		paid in cash.  He does not report it to the benefit office and

		is £500 in pocket.  Do you feel this is wrong or not wrong?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Not wrong		  (1)			3561



�			A bit wrong		  (2)



�			Wrong		  (3)



�			Seriously wrong		  (4)



�			Can’t choose		  (8)







	b.	And how likely do you think it is that you would do this,

		if you found yourself in this situation?		 (()

		

�		PLEASE TICK ONE BOX ONLY	Very likely		  (1)			3562



�			Fairly likely		  (2)



�			Not very likely		  (3)



�			Not at all likely		  (4)



��			Can’t choose		  (8)

�	2.23a	Now consider this situation:

		A person in paid work takes on an extra weekend job and 

		is paid in cash. He does not declare it for tax and so is £500 

		in pocket.  Do you feel this is wrong or not wrong?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Not wrong		  (1)			3563



�			A bit wrong		  (2)



�			Wrong		  (3)



�			Seriously wrong		  (4)



�			Can’t choose		  (8)









	b.	And how likely do you think it is that you would do this, 

		if you found yourself in this situation?

				 (()

		PLEASE TICK ONE BOX ONLY

�			Very likely		  (1)			3564



�			Fairly likely		  (2)



�			Not very likely		  (3)



�			Not at all likely		  (4)



�			Can’t choose		  (8)

�

								SPARE

								3565-  

								3580  

�	2.24a	On the whole, would you describe the Conservative Party nowadays 

		as extreme or moderate?

				(()

		PLEASE TICK ONE BOX ONLY		

�			Extreme		    (1)			3620



�			Moderate		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3621-  

								3622   









	b.	And the Labour Party nowadays, is it extreme or moderate? 

				(()

		PLEASE TICK ONE BOX ONLY

�			Extreme		    (1) 			3623



�			Moderate		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3624-  

								3625   









	c.	And the Liberal Democrats nowadays, are they extreme or moderate? 

				(()

		PLEASE TICK ONE BOX ONLY

�			Extreme		    (1)			3626



�			Moderate		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3627-  

								3628   









		PLEASE ANSWER ONLY IF YOU LIVE IN SCOTLAND

	d.	And the Scottish National Party nowadays, is it extreme or moderate? 

				(()

		PLEASE TICK ONE BOX ONLY

�			Extreme		    (1)			3629



�			Moderate		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)



�



								SPARE

								3630-  

								3631   

�		EVERYONE PLEASE ANSWER



	2.25a	On the whole, would you describe the Conservative Party nowadays 

		as united or divided?

				(()

		PLEASE TICK ONE BOX ONLY

�			United		    (1)			3632



�			Divided		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3633-  

								3634   









	b.	And the Labour Party nowadays, is it united or divided? 

				(()

		PLEASE TICK ONE BOX ONLY

�			United		    (1)			3635



�			Divided		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3636-  

								3637   









	c.	And the Liberal Democrats nowadays, are they united or divided? 

				(()

		PLEASE TICK ONE BOX ONLY

�			United		    (1)			3638



�			Divided		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)

								SPARE

								3639-  

								3640   











		PLEASE ANSWER ONLY IF YOU LIVE IN SCOTLAND

	d.	And the Scottish National Party nowadays, is it united or divided? 

				(()

		PLEASE TICK ONE BOX ONLY

�			United		    (1)			3641



�			Divided		    (2)



��		Other answer (PLEASE WRITE IN )			    (3)



�



								SPARE

								3642-  

								3643   

�		EVERYONE PLEASE ANSWER



	2.26a	How good a job do you think John Major is doing as Prime Minister?

				(()

		PLEASE TICK ONE BOX ONLY

�			Very good		    (1)			3644



�			Quite good		    (2)



�			Not very good		    (3)



�			Not at all good		    (4)



�			Can't choose		    (8)









	b.	How good a job do you think Tony Blair would do as 

		Prime Minister? 

				(()

		PLEASE TICK ONE BOX ONLY

�			Very good		    (1)			3645



�			Quite good		    (2)



�			Not very good		    (3)



�			Not at all good		    (4)



�			Can't choose		    (8)









	c.	How good a job do you think Paddy Ashdown would do as 

		Prime Minister? 		(()



�		PLEASE TICK ONE BOX ONLY	Very good		    (1)			3646



�			Quite good		    (2)



�			Not very good		    (3)



�			Not at all good		    (4)



�			Can't choose		    (8)

�



								SPARE

								3647-  

								3680   



�	2.27	Please tick one box for each statement to show�PRIVATE ��

		how much you agree or disagree with it.



		PLEASE TICK ONE BOX			Neither

		ON EACH LINE	Agree		agree nor		Disagree

			strongly	Agree	disagree	Disagree	strongly



	a.	The welfare state makes people nowadays

�		less willing to look after themselves						3720



	b.	People receiving social security are made

�		to feel like second class citizens						3721



	c.	The welfare state encourages

�		people to stop helping each other						3722



	d.	The government should spend more

		money on welfare benefits for the						3723

�		poor, even if it leads to higher taxes



	e.	Around here, most unemployed people

�		could find a job if they really wanted one						3724



	f.	Many people who get social security

�		don't really deserve any help						3725



	g.	Most people on the dole are fiddling in 

�		one way or another						3726



	h.	If welfare benefits weren't so generous, 

		people would learn to stand on their 						3727

�		own two feet

			(1)	(2)	(3)	(4)	(5)

�





	2.28	Please tick one box for each statement below to 

		show how much you agree or disagree with it.

					Neither

		PLEASE TICK ONE BOX 	Agree		agree nor		Disagree

		ON EACH LINE 	strongly	Agree	disagree	Disagree	strongly



	a.	Ordinary working people get their fair

�		share of the nation's wealth						3728



	b.	There is one law for the rich and one

�		for the poor 						3729



	c.	Young people today don't have enough 

�		respect for traditional British values						3730



	d.	Censorship of films and magazines is 

�		necessary to uphold moral standards						3731



	 e.	There is no need for strong trade unions 

		to protect employees' working conditions 						3732

�		and wages



	f.	Private enterprise is the best way to solve 

�		Britain's economic problems  						3733



	g.	Major public services and industries ought 

�		to be in state ownership						3734

�			(1)	(2)	(3)	(4)	(5)

�	2.29	Please tick one box for each statement below to 

		show how much you agree or disagree with it.

					Neither

		PLEASE TICK ONE BOX 	Agree		agree nor		Disagree

		ON EACH LINE 	strongly	Agree	disagree	Disagree	strongly



	a.	It is the government's responsibility to

�		provide a job for everyone who wants one						3735



	b.	People should be allowed to organise public

�����		meetings to protest against the government						3736



�����	c.	Homosexual relations are always wrong 						3737



	d.	People in Britain should be more tolerant

�����		of those who lead unconventional lives						3738



	 e.	Political parties which wish to overthrow

		democracy should be allowed to stand in 						3739

�����		general elections

					(1)	(2)	(3)	(4)	(5)

�





	2.30	Please tick one box for each statement below to show

		how much you agree or disagree with it.



		PLEASE TICK ONE BOX			Neither

		ON EACH LINE	Agree		agree nor		Disagree

			strongly	Agree	disagree	Disagree	strongly

	a.	Government should redistribute income

		from the better-off to those who are less 

�		well off						3740



	b.	Big business benefits owners at the 

�		expense of workers						3741



	c.	Ordinary working people do not get 

�		their fair share of the nation's wealth						3742

					

	d.	Management will always try to get the

�		better of employees if it gets the chance						3743



	e.	People who break the law should be

�		given stiffer sentences						3744

					

	f.	For some crimes, the death penalty

�		is the most appropriate sentence						3745



	g.	Schools should teach children to

�		obey authority						3746



	h.	The law should always be obeyed,

�		even if a particular law is wrong						3747

			(1)	(2)	(3)	(4)	(5)

�



�	2.31a	To help us plan better in future, please tell us about

		how long it took you to complete this questionnaire.

				 (()

		PLEASE TICK ONE BOX ONLY

�			Less than 15 minutes		  (1)			3748



�			Between 15 and 20 minutes		  (2)



�			Between 21 and 30 minutes		  (3)



�			Between 31 and 45 minutes		  (4)



�			Between 46 and 60 minutes		  (5)



�			Over one hour		  (6)





	b.	And on what date did you fill in the questionnaire?





��		PLEASE WRITE IN:			1996							3749-  

														3752   

				  DATE	 MONTH





�

																	SPARE									3753-  

								3780   





Thank you very much for your help



�			



	





�
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Please keep the completed questionnaire for the interviewer if he or she has arranged to call for it.  Otherwise, please post it as soon as possible in the pre-paid envelope provided.
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